LTEX2 E ZHO|JUA EA Fo(7|

kevinlys00
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ve BTEX 0] 2t fS1217t
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What is BTEX?

=3 Donald Knuth2t= =&XH Knuth SEELCHIF 2012 M2
Zmst7| ol 2Y AHE ZE =230 TpX
w SHX|DF 0= CHR (7L of 2R, &l AF251H7| $I5H 1984 0]
Leslie Lamport7} Ot H

J?,i rn

= IR E =22
=]

= JATEXO| A TEX

o 5
side = U= d97t Bt (AHst= A
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BTEX code structure

\documentclass{article}
\usepackage{amsmath,amssymb}
\usepackage [hangul] {kotex}
\usepackage{xcolor}
\newcommand{\RAR}{\Rightarrow}
\def \shp {\texttt{\#}}
%and_some_more
\begin{document}

Text Here

\end{document}

Nothing_works_here
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KTEX code structure — documentclass

\documentclass{article}
\usepackage{amsmath,amssymb}

\usepackage [hangul] {kotex}

\usepackage{xcolor} =Me MElZ Hsotrt
\def \shp {\texttt{\#}}
\newcommand{\RAR}{\Rightarrow}
%and_some_more
\begin{document} = standalone : 12!
Text Here

\end{document}

Nothing_works_here
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KTEX code structure — preamble

\documentclass{article}

\usepackage{amsmath,amssymb} \usepackage : 7| 5SS F7}
\usepackage [hangul] {kotex} (C9| header fileQ} SAp

\usepackage{xcolor}
\def \shp {\texttt{\#}}
\newcommand{\RAR}{\Rightarrow} = xcolor : AHZ

= kotex : ot=2

%and_some_more = tikz . 12
\begin{document} '
Text Here = geometry =d
\end{document} ctan.org/pkg

Nothing_works_here
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https://ctan.org/pkg

KTEX code structure — preamble

\documentclass{article}

\usepackage{amsmath,amssymb} sdefined} 22 7|5 = QUC}H
\usepackage [hangul] {kotex}
\usepackage{xcolor} TEX -

\def \shp {\texttt{\#}}

el (3]
\newcommand{\RAR}{\Rightarrow} = \def : JUH GlE

L— HAL—

%and_some_more IATEX :

\begin{document} & \newcommand : Q&
Text Here

\end{document} = \renewcommand : 91T

Nothing_works_here
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IKTEX code structure — main document

\documentclass{article}
\usepackage{amsmath,amssymb}
\usepackage [hangul] {kotex}
\usepackage{xcolor}

\def \shp {\texttt{\#}}
\newcommand{\RAR}{ \Rightarrow}
%and_some_more
\begin{document}

Text Here

\end{document}
Nothing_works_here

0l & Cf=2 preamble

S2 7HX|1 EME &Y

812 4] 7|9 of2f &
2oloz BB AN5Hs
ST SASICH

gy BEe FMo= M
Ao EfQlol are Ec}
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Outline

o =A BHET|
% mathmode
% \usepackage{minted}

% some tricks
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PTEX ZFAISH & R}

\documentclass{article}

\begin{document}

One, two, three, four One, two, three, four Five,
Five, six, seven, eight six, seven, eight Nine, ten,
Nine, ten, eleven, twelve eleven, twelve
\end{document}

WTF?
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PTEX ZFAISH & R}

\documentclass{article}
\begin{document}

One, two, three, four\\
Five, six, seven, eight\\
Nine, ten, eleven, twelve
\end{document}

One, two, three, four
Five, six, seven, eight
Nine, ten, eleven, twelve

BBConf 2024 Winter



ATEX 2HM 6l E X} — item 2} enum

\begin{itemize}
\item eins
\begin{enumerate} o cins
\item zwei _
] . 1. zwei
\item drei .
\end{enumerate} 2. drei
\item zwei o zwei
\item drei o drei
\begin{enumerate} .
\item eins 1. eins
\item zwei 2. zwei
\end{enumerate}
\end{itemize}

BBConf 2024 Winter
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KTEX 2HM 6l E X} — command 2} environment

= ATEX= 3A| 271X 2] HEO{ 7 UCt
% command

= \cmd[options]{a}{b}
= \begin{env}[options]{a}{b}

\end{env}
= [12| 4% MEfo| 7tsotd, MM F2 default 22 A H
AHE2E
o

= {}2] B2 OIRHUE @X| Yl
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ATEX ZFA Sl 2 X} - font size @F style

= EE AO|=E= {\large (text)}2} 0| =X J}=5tCt
B \tiny

1 \scriptsize

' \footnotesize

= \small

= \normalsize

= \large

= \Large

= \LARGE
= \huge

BBConf 2024 Winter
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KTEX 26l E X} — font size 2} style

= ZE AEIYUZ HES= W2 o0 4ot
= typewriter : \texttt{(txt)} &2 {\ttfamily (txt)}
= sans font : \textsf{(txt)} S {\sffamily (txt)}
= bold font : \textbf{(txt)} =22 {\bfseries (txt)}
= jtalic font : \textit{(txt)} S {\itshape (txt)}
= underline : \underline{(txt)}s

= $I2Ts S#0| & ok S5 US| Folstxt

BBConf 2024 Winter
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= HES Ll 22 YYo= o = Ut
w 2|Z Ot= : \begin{flushleft} \end{flushleft}
7t2H| &= : \begin{center} \end{center}

Or= : \begin{flushright} \end{flushright}
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Outline

% EM BT
% mathmode
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Why using “mathmode”

= tistory2| mathjaxE 0| & [
= W 20 Al Q2iEtm) Ml

' OC|EE2|Y HOpItE M

BBConf 2024 Winter 16



Playing with “mathmode”

w A2 BA A0 2 U (inline mode)

= TpX: $ $
= ATEX - \( \)
w £AOLSEEZ E 0 A2 0f (display mode)
= TeX: $$ $$
= ATEX 1 \[ \]
= B8 LER
= TeX : {(numer) }\over{(denom) }
= ATEX : \frac{ (numer) }{ (denom) }
= 4] Afojoi] Yt AE

= \text{text in mathmode}

BBConf 2024 Winter 17



Playing with “mathmode”

= \[\] 2Z0M S8t=
= \begin{align*} <> \end{alignx}
= \[\begin{aligned} <> \end{aligned}\]
= 23 ZO|E Atolof| /= =MLl F 7[00 SEF7|
= ZS0FOET| \left( \right)
= AMO| &= Eé—’._‘— | :\left( \middle| \middle| \right)
A
=S

1o
[
_\:'_I
E
re
-
3

— \DeclareMathOperator{\ (cmd) }{ (txt)}
— \DeclareMathOperator*{\ (cmd) }{ (txt)}

BBConf 2024 Winter
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Playing with “mathmode”

\; : 12345
\ 12345
\, : 12345
\! 12385

BBConf 2024 Winter
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Playing with “mathmode”

\\ ¢ & d\end{matrix}
I.

= S Q13 \begin{matrix}ta &

ok

b
= \usepackage{amsmath}E EHL =
= \begin{matrix} :
= \begin{pmatrix} : ()
= \begin{vmatrix} : ||
= \begin{bmatrix} : []
= 7|9 Ot 2F9| \left \right 2 £=8F LEX}0| LA
matrix Et4 2 ZIMFXF

= inline mode £ EZ 22 M0l = smallmatrixE X}
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Playing with “mathmode”

+ \pm F \mp X \times = \div

o \circ e \bullet | - \cdot N \cap

U \cup \Y \vee A \wedge \  \setminus
@ \oplus | ® \otimes | < \leq > \geq

€ \in C \subset | D \supset - \subseteq
~ \sim ~ \simeq | = \approx =~ \cong

#%  \neq = \equiv | ) \emptyset | @ \varnothing
J N\int | [/ \iint =< \preceq | = \succeq

N \aleph | — \to e%) \infty 0 \partial

0|2(0]] 22 = 7| = detexifyO M 21 & Je{EHA &l
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https://detexify.kirelabs.org/classify.html

Playing with “mathmode”

Let a, B8 be a zero of
\documentclass{article} 22 — 82+ 8. Prove that
\begin{document}
Let $\alpha,\beta$ be a (95*_52):: 6
zero of $x72 - 8x + 8$. B
Prove that
\ [
(\frac{\alpha}{\beta}
+\frac{\beta}{\alphal})=6
\1.
\end{document?}

BBConf 2024 Winter 22



Playing with “mathmode”

Let o, B be a zero of

\documentclass{article} 22 — 82+ 8. Prove that
\begin{document}

Let $\alpha,\beta$ be a (g + é) -6
zero of $x72 - 8x + 8$. B«

Prove that

\

(\frac{\alpha}{\beta}
+\frac{\beta}{\alphal})=6
\1.

\end{document?}

BBConf 2024 Winter



Playing with “mathmode”

\documentclass{article}
Let o, 5 be a zero of

\begin{document}

Let $\alpha,\beta$ be a 22 — 8z + 8. Prove that

zero of $x°2 - 8x + 8§. a f

Prove that —+ 2 )=6].
8«

\ [

\left\rceil\middle(

\frac{\alpha}{\beta}

+\frac{\beta}{\alpha}
\middle)=6\right\lceil.
\]

\end{document}

BBConf 2024 Winter



Playing with “mathmode”

\begin{alignx*}

a &= 1+\cdots+100 \\ a=1+---+100

&= (1+100)+\cdots +(50+51)\\ = (1+4100) 4 --- + (50 + 51)
&= 101\times 100 /2~=~5050

\end{align+} =101 x 100/2 = 5050

BBConf 2024 Winter 24



Playing with “mathmode”

\[\begin{aligned}

a &= 1+\cdots+100 \\ a=1+---+100

&= (1+100)+\cdots +(50+51)\\ = (1 +100) + --- + (50 + 51)
&= 101\times 100 /2~=~5050 — 101 x 100/2 = 5050
\end{aligned}\]

BBConf 2024 Winter 24



Playing with “mathmode”

\documentclass{article}
\begin{document}

The matrix $\begin{pmatrix}
1&2\\3¢&4
\end{pmatrix}$ is invertible.
We can show it by
\[\begin{vmatrix}
1&2\\3¢&4
\end{vmatrix}

=1\times 4-2\times 3=-2.\]
\end{document}

The matrix L2 is in-
3 4
vertible. We can show it by

1 2
3 4

=1x4-2x3=-2.

BBConf 2024 Winter
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Playing with “mathmode”

\documentclass{article}

\begin{document} The matrix (} %) is invertible.
The matrix $\left(\! We can show it by
\begin{smallmatrix}

1 2

1&2\3¢4 —1x4—2x3=—2.
3 4

\end{smallmatrix}\!\right)$
is invertible.

We can show it

\left\mid\, \begin{matrix}
1&2\\3%&4
\end{matrix}\,\right\mid
=1\times 4-2\times 3=-2.\]
\end{document}

BBConf 2024 Winter 26



Outline

o =A BHET|

MO

% \usepackage{minted}

BBConf 2024 Winter
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El.-E OL=7| - \usepackage{minted}

IE 22010 2 ZHSHA| coloring
IATEX S| TOC(table of contents) 7|
St Z0| AtESHH Het
\begin{minted}{your_lang}

code_here

\end{minted}

=X EES27IE, IE= MERE
OHE El-E « RS 5
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My pick using \usepackage{minted}

# \usemintedstyle{igor,bgcolor=yellow!10}

= \usepackage{multicol}2} \usepackage{pdflscape}E &
\begin{landscape}
\begin{multicols}{2}
\tableofcontents
\end{multicols}
\end{landscape}

F LR & 7007 \_(Y)_/7
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Outline

% some tricks
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Useful hacks

w B Oel= WY

= \begin{tabular} \end{tabular}
= L E M= HHES matrix2t S

- O -

= I A2 BHA & UKITH OJRCHH 17| 0|85HAL

\begin{tabular}{llclclc||}\hline
&\multicolumn{2}{c||}{name1}\\\hline
\multirow{2}{*}{name2} & coll & col2
\\ \cline{2-3}

& col3 & col4\\ \hline

\end{tabular}

namel
coll | col2
name2
col3 | cold

BBConf 2024 Winter
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https://www.tablesgenerator.com/

Useful hacks

= \newcommand{cmd}[var]{sth}
= c¢md ; O3 2 0|2
= var: (13 2 H= 7=, 0742HH oF Mo = EICt

= sth: @S ™o, O [ (HA HHe=#i2 E8{227|

= ZEME 012 22 25|
= \begin{minipage}{len} \end{minipage}
= len0|| EE o\textwidthE =&

= Z210|2| 80| \textwidth EC} 22T 5t Zof| S0{Zt

min

=Hio| EXIE 0t= = |0 \phantom{text} A}

= I:Il_l = = ——1
ME: (21) (\underline{\phantom{7tLtC}2}}})

BBConf 2024 Winter
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Useful hacks

= \usepackage{xcolor}
= { \color{your_color} text_with_color }
= AM7ZF0L=7]| : \definecolor{ColorName}{HTML}{HEX}
= M7ZFM7J| :newC:=C1!(int)x'newC || C1!(int)x || C
- M Eoi2 C1dtnewCE 2: 100 — z H|E
- EM 282 Cc10} whiteE z: 100 — 2z H|S
= \usepackage{graphicx}
= ARl =7t B : \includegraphics{name. jpg}
= ZX} /C/E§ : \rotatebox [origin=c]{angle}{text}
= ZX 37| HW‘ : \scalebox{xscale}[yscale]{text}

BBConf 2024 Winter
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Useful hacks

= \usepackage{hyperref}
= Mo 3L O A
= \href{link}{text}

= \usepackage{qrcode}

BBConf

i

= O|EUHZ grZEE S M AIE

= \grcode{link}

BBConf 2024 Winter
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https://bbconf.kr/

Outline

Yo &AM F0[7|
* Tikz
* 0| AM(?)
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= =
=AM oH MR
EO{MT|E X7 EA St 2 AHEEE flet tip
= JI2
= \hspace{len}
= \hfill
= \setlength\parindent{len}
= MZ

= \vspace{len}
= \vfill
= \\[len]

= \renewcommand{\baselinestretch}{xx}

QA AT S minipage 2FENIAM \vfill2 OtHS|L| F29|
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Outline

Yo &AM F0[7|
% Tikz

BBConf 2024 Winter
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I
1

0

oz &1 J2|7|?

= \usepackage{tikz} £ R Z FIC}

= \begin{tikzpicture} \end{tikzpicture}
= O] AoJoflM = &0 Ht=A| ;& & O{F O Bt
= Cl2m Ze #ES & 4 Ut

- Chedt =8 J2(7|

- O|Xt€l TEf= 2|7

- CH=z= clojo{ 2 J2|7|

- 8o 2 7|5 ot=7|

_— —
(=) “es

0l
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Tikzamples

90" s

5
g 6p.
N ///////7////0

109

y \
N AW W
W 7

N\

%, A\
"y, Wee
Oz i e o\ I\

RECE Y
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Why Tikz

= Pros

= HE{ 0|0|X|2 OIEC

= L— 1—

= ZE XEA o IjI/HI7< dsh =7t AUt

= 8 ufo'c’ 2 Fote 227t odnt

= pr=mol ojo|x|(EHY 5)8 2Ho= S
= Cons

= FlQIEEo] ATE| ot

= ZtEE JdAUo| HF F of Birt
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Drawing a line

\begin{tikzpicture}
\draw (0,0) -- (3,1);

\draw (5,2) -- (4,0);

\end{tikzpicture} —
5 2ol 0l51S 57| I8 HEMS D Ect

BBConf 2024 Winter
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Scaling

\begin{tikzpicture}
[xscale=4,yscale=3]
\draw (0,0) -- (1,1);
\draw (1,1) -- (1,0);
\draw (1,0) -- (0,0);
\end{tikzpicture}

% xscale, yscale 3 7|2 =H3l HIE 5= UCt
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Line styling

\begin{tikzpicture}

\draw[->] (0,-1) -- (5,-1);
\draw [<-|] (0,-3) -- (5,-3);
\draw [<->] (0,-5) -- (5,-5);
\draw [thick] (0,-2) -- (5,-2);
\draw [line width = 5pt]

(0,-4) -- (5,-4);

\draw [dashed, ultra thick]
(2.5,-6) -- (2.5,0);
\end{tikzpicture}

BBConf 2024 Winter
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Draw(fill)ing rectangles

\begin{tikzpicture}

\draw (0,0) rectangle (2,2);
\draw [fill=red!30, thick]

(1,1) rectangle (3,3);

\fill [yellow]

(3/2,3/2) rectangle (2+.5,2+.5);
\end{tikzpicture}

% EHEO| AFRAME ALE 7HSSHH
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Drawing circles and arcs

\begin{tikzpicture}
\draw(0,2)circle[radius=sqrt(2)];
\draw(2,2)circle[radius=sqrt(2)];
\draw (2,2) arc

[start angle=0, end angle=180,
radius=1];

\end{tikzpicture}

% \draw (2,2) arc (0:180:1);2

BBConf 2024 Winter
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Node labeling

\begin{tikzpicture}
\draw[thick,<->](0,2)--(0,0)--(2,0);
\draw[fill] (1,1)circle[radius=.025];

\node at (1,1) {\tiny center};
above

\node [below,blue] at (1,1) {below}; left center  right
below

\node[above,red] at (1,1) {above};
\node[left=1cm] at (1,1) {left};
\node[right=.5cm] at (1,1) {right};
\end{tikzpicture}

% above/below 2} left/right= Z0| AFS 7+HSSICt
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\foreach

R OO000O00000O
\begin{tikzpicture} 00/0/000/0/0)0,
\foreach \x in {1,..., 10H{ OOOOOOOO

\foreach \y in {\x,..., 10} OOOOOOO
\draw (\x/2, \y/2) OO0O00O0O
circle (0.2); OOO0O0O
} 0000
} 000
\end{tikzpicture} OO
O
X ... ol &0l 17HH 1 B/ 2707 JHHH T Xo|gkE St
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Drawing a 2D graph

\begin{tikzpicture}

\draw[->] (-2.5,0) -- (2.5,0)
node [above left] {$x$};
\draw[->] (0,-.5) -- (0,4)
node [below right] {$y$};
\draw [domain=-2:2, thick]
plot (\x,{cosh(\x)});
\end{tikzpicture}

¥ A{2F} AOlOf U= A2 AUS
X APZIEkS L 0y

L
—
T= TUIE

T Z=c

=, radian& \cos(\x r)
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Drawing a 2D graph

\draw [red, thick]
(1.5,{cosh(1.5)}) arc
(-25.2:-5:{cosh(1.5)"2});
\draw [red, thick]
((1.5,{cosh(1.5)}) arc
(-25.2:-70:{cosh(1.5)"2});
\draw [fill = white, thickl]
(1.5,{cosh(1.5)})

circle [radius=.1];

o Crefet J8ls 2|1 AEtH 07| & & Z=okA}

—
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https://cremeronline.com/LaTeX/minimaltikz.pdf

Outline

w =AM 07|

* O M(?)
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Name: 7}L{Cf
ol : @gmail.com
HZHHS 1 010-x00¢-xxxx

i glel 1 0000.00.00

Nunc sed pede. Praesent vi-

—0000.00. OOCch&Etm OO D MAF B tae lectus. Praesent neque
= 0000.00. OOC§3tm OOBHT} BHA} £2f justo, vehicula eget, inter-
_ dum id, facilisis et, nibh.
~0000.00. OCOnEstn £ Phasellus at purus et libero
lacinia dictum. Fusce ali-
quet. Nulla eu ante placerat
A= leo semper dictum. Mauris
metus. Curabitur lobortis.
0000.00. X}Z=1 Curabitur sollicitudin hen-
0000.00. XIZi=2 drerit nunc. Donec ultrices
00. AHAS lacus id ipsum.
ZENET 9| =of
0000.00.- 0000.00. abcd - AoA|&1 000H
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